Name:

3 Digit Integer Division

Score:

-21

-14

25

13

-17

-25

15

30

Find the missing integers

()= 22 =22
-150 +©=-15
©+ 20 = 25

@ + 20 = -35

©+ 21 = 23

()= 20 =-18
-242+©= 11
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480 = ()= -
( )+ 33 =-

-23

-31

-32



-255 = [-17

210 = (-15
- a3
-390 =+ (-30

= 15
750 +(30)
= -19
210 + (-14
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Answers

Find the missing integers

+ 22 = 22
150 = (10 ) = -15
+ 20 = 25

140 +(-14) = 10

+ 20 = -35
209 = (11 )= -19
+ 21 = 23

216 = (-12) = -18

+ 20 = -18
242 = (-22)= 11

480 + (-12 )= -40
(330) = 33 =-10
-640 + (-16 )= 40
(897) = -39 = -23
720 + (18 )= -40
(357) = 21 = 17
400 = (25)= 16
(682) = 22 = -3l
390 + (-15)=-26
(544) = -17 =32



